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% g R - KSR Bifr B 2 B i & B W =

EEIEE 17,083, 417
MEIEH 1,034,279 + 4,120,232 5,154,511

HBREE (R) 17,180,717 x 6.02% 1,034,2795.54 A

RGEEE 18,214,996 x 22.62% 4,120,2325.54 A
TR 17,083,417 + 5,154,511 22,237,928
—REEES 22,541,228 x 15.17% — 6,448 3,413,056
LR E 22,541,228 x 0.04% 9,016
T &l 22,237,928 + 3,413,056 + 9,016 25, 660, 000
HETR SR L 25,660,000 x 10.00% 2,566, 000
FEIZRE 25, 660, 000 + 2, 566, 000 28, 226, 000
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£ [ IR - WAKTiE By B = B {f & % =
EEIEZE 17,083, 417
R - REERSEEMEMEMETIS 17,083, 417
TYXRIELS 16,039, 112
BEERE 4,614, 301
BEERE 3,926, 730
1 28 L (RE%S) 293.00 90 26, 370
m2
2 BHE (REHHE) 293. 00 190 55, 670
m2
3 BEERZ T (RERHRE) 293. 00 680 199, 240
m2
4 FEHE (EMIHRABER) 101.00 110 11,110
m2
5 BIEBERZ T (EMIRAER) 101.00 340 34, 340
m2
6 NEBE 1.00 3, 600, 000 3, 600, 000
=
HEE 530, 000
1 HEE 1.00 530, 000 530, 000
=
HEFBECET IEERNE 157,571
8 ERREH 1.00 10, 763 10, 763
=
9 RERERIRE 1.00 51,099 51,099
=
10 NEERIEH 1.00 4,613 4,613
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£ L R - KT B = fili & 5 i

1 EEFE2RRH(REFIUHEET 1.00 91,096 91,096
) =

TvEkiE 10, 263, 390

HES 3,113, 800

12 Ty XKEE IXRNAUFA5 )L - AR, BA &7 - RS 296. 00 9, 800 2,900, 800
G m2

13 SAAFREHE FH - X4 - P H=930 &£ - EAET 35.50 6, 000 213, 000
m

e 5,949,001

14 &R 8 (SS400) [-125x65x6x 8 0.76 134, 000 101, 840
t

15 LT8R (SS400) L-90x 90 x 7 1.94 140, 000 271, 600
t

16 $f% (STK400) 34.0¢ x2.3 0.39 218,000 85, 020
t

17 $04R (SS400) D PL-6 0.29 210, 000 60, 900
t

18 #4R (SS400) @ PL-4.5 0. 21 210, 000 44,100
t

19 EARL L (S10T)D HTB Mi6 L=45 54.00 135 7,290
P

20 SAARIL kS0 HTB M16 L=40 716. 00 130 93, 080
b

21 tRL b+ M6 L=40 370. 00 46 17,020
b

22 $BRY Sy THEE 0.1 -30, 000 -3, 300
t

23 TIHMMITHMAIT IiHaiEst 3.40 500, 000 1, 700, 000
t
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t

21 H%ERA HigaEH® 3.40 550, 000 1,870, 000
t
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t
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=
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m2
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L5z A&
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=
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34 BEREH 1.00 113, 693 113, 693
=

35 NEREH 1.00 10, 263 10, 263
=

36 EEESRRBRE (REFINLELED 1.00 202, 686 202, 686
) =

RERERE 1,161, 421

SR 971, 760
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EL

40 ERETE - HAH 106. 00 3,100 328, 600
Bl

4 RIEF R O ERN T E R 106. 00 800 84,800
Bl

42 BmEEE 106. 00 160 16, 960
Bl

43 2587 LY 106. 00 700 74,200
Bl

44 EERE 1.00 18, 000 18, 000
=

45 REHRFEE 1.00 110, 000 110, 000
=

ERE 150, 000

46 FERRE 1.00 150, 000 150, 000
=

BB HBE T 5 AEEH A 39, 661

41 ERRERM 1.00 2,709 2,709
=

48 2RI 1.00 12, 862 12, 862
=

19 NERBRH 1.00 1,161 1,161
=

50 BEELRRH REFLAHSET 1.00 22,929 22,929
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R RERE 841,122
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B REARERE 141,220
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4
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m
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53 LEDRRBARED LED;# & %2306, 900 Im— % %2 1 10. 00 28, 000 280, 000
4
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4
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m
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56 FERE 1.00 110, 000 110, 000
=

BESBHECEHTIEEENE 28,722
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58 fERIRIRE 1.00 9,314 9,314
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59 T EERIRHE 1.00 841 841
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61 FEHERD BRERE 1.00 85, 000 85, 000
=%

62 FEMEHRD Ll iR 1.00 30, 000 30, 000
=%

63 295w JEHk 1.00 100, 000 100, 000
=%

LR NS -94, 000

64 EEHMUHD RIBEE 1.00 110, 000 110, 000
=%

65 FELEHMUHQ HEEAE I 1.00 96, 000 96, 000
=%

66 295y TE WREE : 10. 0t (NE—H2) 1.00 -300, 000 -300, 000
=%

ERE 65, 000

67 ERE 1.00 65, 000 65, 000
=%

HEFBECET IEERNE 17,183

68 ERFREE 1.00 1,174 1,174
=%

69 EEERIRF 1.00 5,572 5,572
=%

70 NEERKRE 1.00 503 503
=%
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&5 1
& 2H L (REZUE) m2y
2 b g - BIRTE By = it ® # " =
=1 L (REZE)
m2 1.00 90. 00 90
& Hi S . 00m2 90. 00 90
&5 .2
& BE (REBRUE) m2y
2 b g - BIRTE By = it ® # " =
&4 (RERE)
m2 1.00 190. 00 190
& Hi 1YEZHERH 1. 00m2 190. 00 190
5.3
£ . BEFRE A (REKE) my
2 b g - BIRTE By = it ® # " =
RIRER R F A (T (RERSE)
m2 1.00 680. 00 680
& Hi YEZHERN 1. 00m2 680. 00 680
Hz5:4
£ BE (EMHARR) my
2 b g - BIRTE By = it ® # " =
Lo INET:))
m2 1.00 110. 00 110
& Hi YEZHERN 1. 00m2 110. 00 110
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F5 .5
& BEFRERH ST EMBAER) m2y
2 b g - BIRTE By = BHO(f ® % # " =
BIBERER AT (EHMRAER)
m2 1.00 340. 00 340
& Hi 1YEZHERH 1. 00m2 340. 00 340
ES .6
275 RERRI5 14y
2 b g - BIRTE By = BHO(f ® # " =
RN 215 4R A B 15W=900
= 1.00 3, 600, 000. 00 3, 600, 000
& Hi 1E%HeH - 1.00K 3, 600, 000. 00 3, 600, 000
=17
2 ERE 14y
2 b g - BIRTE By = BHO(f ® # " =
HRE HEFEEICEAT EEEMNELZRL
= 1.00 530, 000. 00 530, 000
& B 1E%HeH - 1.00K 530, 000. 00 530, 000
5.8
2% ERREH 14y
2 b g - BIRTE By = BHoO(f ® % # " =
ERREH
= 1.00 10, 763. 00 10, 763
& Hi 1E%HeH - 1.00K 10, 763. 00 10, 763
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59
ZF5  REERER 1LY
2 b g - BIRTE By = it ® # " =
EREREH
= 1.00 51,099. 00 51,099
& Hi S .00 51,099. 00 51,099
&5 :10
£ TERER IEED
2 b g - BIRTE By = it ® # " =
EERER
= 1.00 4,613.00 4,613
& Hi 1E%HeH - 1.00K 4,613.00 4,613
&5 11
2% EEFERABEH (REFENELED) 1LY
2 b g - BIRTE By = it ® # " =
EEF£AEBH (REFINELED)
= 1.00 91, 096. 00 91, 096
& Hi 1E%HeH - 1.00K 91, 096. 00 91, 096
&5 .12
&% Ty XKEBE my
2 b g - BIRTE By = it ® # " =
TV XKREE
m2 1.00 9, 800. 00 9, 800
& Hi YEZHERN 1. 00m2 9, 800. 00 9, 800
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&5 .13
2% SAAFREBE m& Y
2 b g - BIRTE By = B 4 ) # i
SNEAFREBE
m 1.00 6, 000. 00 6, 000
& Hi {EZEHEH : 1.00m 6, 000. 00 6, 000
&S 14
2 b g - BIRTE By = B 4 ) # i
T2 80 (SS400) [125x65x6x%8
t 1.00 134, 000. 00 134, 000
& Hi 1E%HESH : 1.00t 134, 000. 00 134, 000
&5 .15
2 b g - BIRTE By = B 4 ) # i
L2 ] (SS400) L90x 90 x 7
t 1.00 140, 000. 00 140, 000
& Hi 1YE%HESH - 1.00t 140, 000. 00 140, 000
&5 .16
£ %5 HH%E (STK400) 1ty
2 b g - BIRTE By = B 4 ) # i
$i & (STK400) 34.00 x2.3
t 1.00 218, 000. 00 218, 000
& Hi 1YE%HESH : 1.00t 218, 000. 00 218, 000
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&= .17
2 %5 . SA#R (SS400) D 1ty
2 b g - BIRTE By = B O ® # i
$M#R (SS400) D PL-6
t 1.00 210, 000. 00 210, 000
& Hi 1YE%HESH - 1.00t 210, 000. 00 210, 000
&= .18
2 %5 . SA#R (SS400) @ 1ty
2 b g - BIRTE By = B O ® # i
$M#R (SS400) @ PL-4.5
t 1.00 210, 000. 00 210, 000
& Hi 1E%HESH : 1.00t 210, 000. 00 210, 000
&5 19
Z# : &mARIL LSO 1AK% Y
2 b g - BIRTE By = B O ® # i
aARIL kS0 HTB M16.L=45
ZN 1.00 135.00 135
& Hi YEZERED 1. 00K 135.00 135
E5:2
Z# . &ARIL LG0T 1AK% Y
2 b g - BIRTE By = B Ol ® # i
SARIL K E1I0TQ HTB M16.L=40
ZN 1.00 130. 00 130
& Hi YEZERED 1. 00K 130. 00 130




Rifiz -/ \v7r—o

SHMOEER - FRERIGEEMEMBIMETE

&5 21
L RIL b+ 1Ry
2 b g - BIRTE By = B O ® # " =
d7R)L k M16,L=40
N 1.00 46. 00 46
& Hi YEZERED 1. 00K 46. 00 46
&5 .22
2 BEBERIS Y TER 1ty
2 b g - BIRTE By = B O ® # " =
BERXY 5y TR
t 1.00 -30, 000. 00 -30, 000
& Hi 1E%HESH : 1.00t -30, 000. 00 =30, 000
&5 .23
& TIHZMIAALT 1ty
2 b g - BIRTE By = B O ® # " =
TISMIAEIT TiEaiEs
t 1.00 500, 000. 00 500, 000
& Hi 1YE%HESH - 1.00t 500, 000. 00 500, 000
BS54
L FEMILLZ my
2 b g - BIRTE By = B Ol ® # " =
EMILDZ IFEFRMT LS X
m2 1.00 562. 00 562
& Hi YEZHERN 1. 00m2 562. 00 562
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&5 .2
B SFIb e m2y
2 b g - BIRTE By = B ® # " =
S EE TiHEE
m2 1.00 765. 00 765
& Hi 1YEZHERH 1. 00m2 765. 00 765
&S .26
B SEER 1tHY
2 b g - BIRTE By = B ® # " =
BB EW
t 1.00 12, 000. 00 12,000
& B 1E%HESH : 1.00t 12, 000. 00 12,000
&5 .27
2 b g - BIRTE By = B ® # " =
HEEA HiGRES
t 1.00 550, 000. 00 550, 000
& B 1YE%HESH - 1.00t 550, 000. 00 550, 000
&5 .28
&% SAKRIL FEES 1tHY
2 b g - BIRTE By = B ® # " =
BARIL FEES
t 1.00 8, 000. 00 8, 000
& Hi 1YE%HESH : 1.00t 8, 000. 00 8, 000
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2T BAEHRE 14y
2 b g - BIRTE By = BHO(f ® # " =
BAERE
= 1.00 675, 000. 00 675, 000
& Hi 1YE%HeRH 1,00 675, 000. 00 675, 000
&5 :30
B TXR/INY R AR LEAH m2% Y
2 b g - BIRTE By = BHO(f ® % # " =
IFHFR/IND R AR LEGAH XG21, B £
m2 1.00 13, 200. 00 13, 200
& Hi 1YEZHERH 1. 00m2 13, 200. 00 13, 200
&5 : 31
&% SOPE Y m2&y
2 b g - BIRTE By = BHO(f ® % # " =
SOPZE L) SxEMm. {EX 8B, TG 1FE. S L Al&. R
MWL 5 ZBlE m2 1.00 870. 00 870
& Hi YEZHERN 1. 00m2 870. 00 870
5 :32
2 ERE 14y
2 b g - BIRTE By = BHoO(f ® # " =
HRE HEFEEICEAT HEEEMNELZRL
= 1.00 850, 000. 00 850, 000
& B 1E%HeH - 1.00K 850, 000. 00 850, 000
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&5 .33
&% ERRERH 1LY
2 b g - BIRTE BT o = B O ® W = " =
ERREH
= 1.00 23, 947.00 23,947
& Hi 1YE%HeRH 1,00 23, 947.00 23,947
s34
2 F5  RERRER 1LY
2 b g - BIRTE BT H = B O ® W E " =
EREREH
= 1.00 113, 693. 00 113, 693
& Hi 1E%HeH - 1.00K 113, 693. 00 113, 693
5.3
2F5 . TEERER 1LY
2 b g - BIRTE BT H = B O ® W E " =
MEERER
= 1.00 10, 263. 00 10, 263
& Hi 1E%HeH - 1.00K 10, 263. 00 10, 263
&5 .36
2% EEFERABEH (REFENELED) 1LY
2 b g - BIRTE BT #H = B Ol ® W = " =
EEFE£AEBH (REFLSNELED)
= 1.00 202, 686. 00 202, 686
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2 b g - BIRTE By = B O ® # " =
FERIFO
55 1.00 2,600. 00 2,600
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£ RIBEFI R L EE EGIER
2 b g - BIRTE By = B O ® # " =
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RIS R O EEN T E W
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& Hi 1YE%HEH 1. 00 FRr 800. 00 800
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2% BRI E EGIER
2 b g - BIRTE BT H = B O ® W E " =
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& Hi 1YE%HED 1. 00 FRr 160. 00 160
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2By LY EGIER
2 b g - BIRTE BT H = B O ® W E " =
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2 b g - BIRTE By = B O ® # i
R HEFEEICET HEEEMNELZRL
= 1.00 150, 000. 00 150, 000
& B 1E%HeH - 1.00K 150, 000. 00 150, 000
&5 .47
2% . ERRERH 14y
2 b g - BIRTE By = B O ® # i
ERREH
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